CRS: Journey of Life Scenarios for VCPC

	Division Name:
	XXX
	
	Division ID:
	___ ___
	
	Village Name:
	YYY
	
	Village ID:
	_____ ____



	Member Index No.:
	



Baseline |_|		post workshop |_|		Final: 6-8 months Journey of Life |_|



	Symbol
	Scenarios
	Can YOU do something about this situation right now?
	Can this VMRC do something about this situation right now?

	
	A family has two children left in school, a boy and a girl.  The girl is a year ahead of the boy and doing very well (performing well/getting good grades). The family has struggled with a poor harvest this year and can only afford to send one child to school.  They choose to send the boy. 
	
|_|1  This situation is not a problem
|_|2 No, I can’t  (X)
|_|3 Yes, I can  (√)

	
|_|1  This situation is not a problem
|_|2 No, we can’t  (X)
|_|3 Yes, we can  (√)


	
	A family is struggling to feed itself.  As broker comes to town and tells the father that he knows of a well to do/wealthy family in town that is looking for a servant.  They ask their oldest daughter, who is 12, to go to town to earn money as a servant.  
	
|_|1  This situation is not a problem
|_|2 No, I can’t  (X)
|_|3 Yes, I can  (√)

	
|_|1  This situation is not a problem
|_|2 No, we can’t  (X)
|_|3 Yes, we can  (√)


	
	A family has 3 daughters ages 7, 11, and 13; they decide to marry the one of the daughters off now to reduce the dowry.
	
|_|1  This situation is not a problem
|_|2 No, I can’t  (X)
|_|3 Yes, I can  (√)

	
|_|1  This situation is not a problem
|_|2 No, we can’t  (X)
|_|3 Yes, we can  (√)


	
	A family asks their oldest son aged 13 to go to town to work in a factory to earn money for his sister’s dowry. 
	
|_|1  This situation is not a problem
|_|2 No, I can’t  (X)
|_|3 Yes, I can  (√)

	
|_|1  This situation is not a problem
|_|2 No, we can’t  (X)
|_|3 Yes, we can  (√)


	[bookmark: _GoBack]
	A child lives in a house where the father is often drunk and the mother looks very sad.  
	
|_|1  This situation is not a problem
|_|2 No, I can’t  (X)
|_|3 Yes, I can  (√)

	
|_|1  This situation is not a problem
|_|2 No, we can’t  (X)
|_|3 Yes, we can  (√)


	
	A 15 year old girl returns to the village after having been away for a year in a big city.  She seems changed: she is now very quiet and does not want to attend school.  
	
|_|1  This situation is not a problem
|_|2 No, I can’t  (X)
|_|3 Yes, I can  (√)

	
|_|1  This situation is not a problem
|_|2 No, we can’t  (X)
|_|3 Yes, we can  (√)


	
	You noticed that last month there were two students who dropped out at the school and begun work at the brick kiln. 
	
|_|1  This situation is not a problem
|_|2 No, I can’t  (X)
|_|3 Yes, I can  (√)

	
|_|1  This situation is not a problem
|_|2 No, we can’t  (X)
|_|3 Yes, we can  (√)




